Soustraction (F)

Calculez la différence.

449 9 15 9757 99 248 7682 4588 812 93
- 8 -7 - 6 -3 -3 —_ 94 -2295 -9 - 5 —_ 5
450 121 8419 5733 158 209 6 9844 5069 309
- 2 — 6 -6399 -9 - 3 —_ 3 —_ 5 —466 — 39 —_ 4
4028 9 8 2653 27 796 271 4482 1539 352
-5 — 4 — 7 -9 —-670 —_56 —_9 —_ 91 — 5 —_188
913 92 7 318 4013 222 8407 831 921 8765
- 6 — 42 — 6 —_ 47 —-802 —_ 5 —_ 21 —_ 86 —_720 —_ 49
9200 3320 688 50 87 22064 o0 1210 6640 9314
- 8 - 17 - 8 —_ 7 — 4 =849 —_ 47 — 9719 —_ 1 —_905
54 908 9957 1046 4792 3256 317 867 5984 597

- 6 — 415 — 10 —_ 38 -840 —_76 —_ 17 — 2 — 6 —_1
6019 82 956 9656 8649 8735 2227 3576 18 5791
- 2 - 31 - 19 - 8 — 7 — 637 — 19 -89 —_ 4 —_ 48
8571 1968 9695 778 092 2 677 bI17 6619 7477
-1 -3 =980 —_ 5 —394 — 2 —_ 36 —_45 —5451 —_261
264 1924 956 9530 576 8853 4647 2619 8755 972
— 56 — &2 —_ 51 — 596 —_ 28 — 415 — 83 —326 — 6 —_ 46
956 80 70 699 4626 6115 1061 13 3203 473
- 96 — 24 — 52 — 58 — 9 —206 — 383 —_ 4 — 9 —_ 2

MathsLibres.com




